## ORIGINAL

## SIDE ONE

API NO. 15- 065-22559 -00-00

STATE CORPORATION COMMISSION OF KANSAS
OIL & GAS CONSERVATION DIVISION
WELL COMPLETION FORM
ACO-1 WELL HISTORY
DESCRIPTION OF WELL AND LEASE

ACO-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE	CSW/4 NE/4 NW sec. 22 Twp. 9S Rge. 21 East West
Operator: License # 5447	4290 Ft. North from Southeast Corner of Section
Name: OXY USA, Inc.	3630 Ft. West from Southeast Corner of Section
Address P. O. BOX 26100	(NOTE: Locate well in section plat below.)
Oklahoma City, OK 73126-0100	Lease Name Darnell A Well # 7
City/State/Zip	Field Name Morel
Purchaser: Permian	Producing Formation Arbuckle
Operator Contact Person: Raymond Hui	Elevation: Ground $2275$ KB $2280$
Phone (405) 749-2471	Total Depth 3980' PBTD 3910'
Contractor: Name: Allen Drilling Company	5280 4950
License: 5418	4620
Wellsite Geologist:_Bill Keller	3960
New Well	Amount of Surface Pipe Set and Cemented at
INSTRUCTIONS: This form shall be completed in triplicate an Derby Building, Wichita, Kansas 67202, within 120 days 82-3-106 apply. Information on side two of this form will be writing and submitted with the form. See rule 82-3-11 wireline logs and drillers time log shall be attached with the form with all plugged wells. Submit CP-111 form with all conversion of a well requires filing of ACO-2 within 120 days.  All requirements of the statutes, rules and regulations promulg with and the statements herein are complete and correct to the signature Vic Tumlinson Amanger Date 10 Subscribed and sworn to before me this 9th day of Octory Public Kay Chambellane.  Notary Public Kay Chambellane.	of filed with the Kansas Corporation Commission, 200 Colorado of the spud date of any well. Rule 82-3-130, 82-3-107 and we held confidential for a period of 12 months if requested in 07 for confidentiality in excess of 12 months. One copy of all his form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 I temporarily abandoned wells. Any recompletion, workover or s from commencement date of such work.
Date Commission Expires 4-/6-94	(Specify)

SIDE TWO

Operator Name	OXY USA, Inc	с.	Lease N	ame Darn	ell A		7
2.2	0.0	☐ East		Graham		Well	#
Sec. <u>22</u> Twp	$\frac{95}{2}$ Rge. $\frac{21}{2}$	☐ West	county .	or andm			
INSTRUCTIONS: Sho interval tested, hydrostatic pressu if more space is n	ow important top time tool open res, bottom hole eeded. Attach	es and base of formation and closed, flowing temperature, fluid copy of log.	ations penetrate g and shut-in p recovery, and f	d. Detail al ressures, whe low rates if g	l cores. Repo ether shut-in p pas to surface o	rt all dri pressure re during test	ll stem tests givi eached static leve . Attach extra shee
Drill Stem Tests T (Attach Additio	aken nal Sheets.)	Yes No			Formation De	scription	
Samples Sent to Ge	ological Survey				⊠ Log	Sample	
Cores Taken		∐ Yes ☒ No	Name		Тор	Rot	tom
Ran Dual I: Density, M	nduction, G	R, Compensated	estimat Topeka Oread Heebner Toronto		3225 <sup>†</sup> 3381 <sup>†</sup> 3434 <sup>†</sup>		
		,	LKC Arbuck1 TD PBTD		3457 <b>'</b> 3472 <b>'</b> 3771 <b>'</b>	39	980 <b>'</b> 910 <b>'</b>
		CASING RECOR	<u> </u>				
•	Popont -		X Nov.	Used			
Purpose of String		ll strings set-cond	uctor, surface,	intermediate,	production, e	tc.	
Surface	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
burrace	12 1/4"	8 5/8"	24#	272	Cl.A	150	3% CaCl
Production	7 7/8"	5 1/2"					
			14#	3972 <b>'</b>	C1.A	150	2% gel, 10%
Shots Per Foot		e of Each Interval	Perforated	I CAMOUNT AND	F <b>racture, Shot,</b> d Kind of Mater	ial Used)	Donth
4	Arbuckle 37	790-3792'		Spotted	200 gal. I	5% NE ac	1d 3790-3792
JBING RECORD							
wind KELUKU	Size 2 7/8"	Set At 3715'	Packer At	Liner Run			
ate of First Produc					☐ Yes 🖾	No	
9-26-90	Producing	Method Flowing Bbls Gas		🗇			
stimated Production	0.11	- rowing a	— rumping □ Ga	as Lift U OI	ther (Explain)		
Per 24 Hours	0il 22	Bbls. Gas	Mcf Water 97	Bbls.	Gas-Oil	Ratio	Gravity
position of Gas:		MET	HOD OF COMPLETIO	ON			
Vented Sold (If vented, sub	Used on Leanit ACO-18.)	ase Open i	Hole 🖾 Perfor		ally Completed	Pro Commin	oduction Interval
ixed & Spotto	d 50 or 01	Other	(Specify)			37	790 <b>–</b> 3792 <b>'</b>
potted 30 sy	u Ju SX UI	A + 3/4% Halad	-322. Squee	zed lower	perf. $\overline{w}/20$		
r by	over apper	perf. 3770-72' C1.A + 3% CaC1	Alternata	2 complet	tion: Squee	zed —	



DIRECT BILLING INQUIRIES TO:

713-895-5824

REMIT TO:

REMITTANCE ADVICE. INVOICE DATE

07/10/90

PAGE	INVOICE NO.
1	UG014

 $\mathbb{J} \times Y$ 

P.C. FIX 25100

SKEAHDNA CITY.

**AUTHORIZED BY** 527495

DK 73126

NET AMOUNT DUE 30 DAYS FROM DATE OF INVOICE

PURCH. ORDER REF. NO.

WELL NUMBER : 7

CUSTOMER NUMBER : 00521002

LEASE NAME AND NUMBER	STATE	C	OUNTY/PARISH	js , ~,	CITY	DISTRICT NAME	DISTR. NO.
DYRNELL, "A"	15	:	, p	3	6	HAYES .	3370
JOB LOCATION/FIELD	s V i i i i		MTA DIS	TRICT	DATE OF JOB	TYPE OF SERV	(ICE
Darnell A	#7	7	Ea	208)	07/10/90	LAND-DQUEEZE	
The state of the s	DOT THE WAY THE WAY TO SHE WAY	No.	The state of the s	-			

7 77 77					
PRODUCT NUMBER	QUANTITY	DESCRIPTION	UNIT PRICE	U/M	EXTENDED PRICE
10100315	1.03	CEMENTING CASING 1500 TO 3000	\$75.00		375.00
10100316	2.25	PLUS PER 100 CR FRACTION BELO	4.00		9.00
10109005	40.00	MILEAGE CHRG. FROM NEAREST BAS	1.10		44.00
10410504	240.00	CLASS MAM CEMENT	5•45	CF	1,308.00
10415018	125.00	FLY ASH	2 • 38	CF	360.00
10420145	1900.60	BJ-TITAN GEL. BENTONITE, BULK	0.13	LB	247.00
10422005	100.00	CELLO FLAKE.	1.21	GL	121.00
10427510	200.00		0.15	CW	30.00
10409600	1.00	S. HEAD	50.00	36	60.00
10830001	365.00	MIXING SEVICE CHRG DRY MATERIA	0.95		346.75
10943131	:340.00	ERAYASE. PER TON-MILLET 1	0.70	.	233.00
		9-1572017X 2360,	1/724		
			SUSTETAL		3,633.75
			DISCOUNT		±00 <b>∗</b> 53
ACCOUNT	<u>4 •</u> 2	5000% STATE 37 000	~ 2338•2	2	1,20•62
		OCT 1 19	96		
TAX EXEMPTION STATE	JS:	PAY THIS AMOUNT		<b>-</b>	2,953,84



DIRECT BILLING INQUIRIES TO:

REMITTANCE ADVIL

INVOICE DATE 07/16/90

PAGE	INVOICE NO.
1	UX044

AUTHORIZED BY

527526

PURCH. ORDER REF. NO.

NET AMOUNT DUE 30 DAYS FROM DATE OF INVOICE 713-395-5824

2.C. PUX 25100 SKLAHOMA CITY,

CXY

OK 73126

WELL NUMBER : 7

CUSTOMER NUPBER : 00521002

B.J. SERVICES P.O. BOX 100806 HOUSTON, TX 77212

LEASE NAME AND NUMBER	STATE	COUNTY/PARISH	CITY	DISTRICT NAME	DISTR. NO
DARVELL 'A" # 7	. 15			HAYES	3370
JOB LOCATION/FIELD		MTA DISTRICT	DATE OF JOB	TYPE OF SER	VICE
	0005	?	07/15/90	LAND-SQUEEZE	

	To the state of th				
PRODUCT NUMBER	QUANTITY	DESCRIPTION	UNIT	U/M	EXTENDED PRICE
10100303	1.00	CEMENTING CASING O TO 300 FT.	395.00	<u> </u>	395.00
10109005	40.JC	MILEAGE CHRG. FROM NEAREST BASE OF	1.10		44.00
10410504		CLASS "A" CEMENT	5.45	CF	
10415049	400.00	A-7-2 CALCIUM CHLORIDE PELLETS	0.32		317.50
10380001	150.00	MIXING SEVICE CHRG DRY MATERIALS, P		L3	123.00
10940101		DRAYAGE, PER TÖN MILE	*		142.50
		- THE CONTRACTOR	0.70		102.20
9 9 0 9 0 0 9 0 0	0     0       0     0       0     0       0     0       0     0       3     0       0     0       3     0       0 <th><b>*</b></th> <th>SUSTOTAL</th> <th></th> <th>1.527.20</th>	<b>*</b>	SUSTOTAL		1.527.20
ACCOUNT *	4.2	5COO% STATE TAX			
<b>9 9 9</b> 9		9 9 9 9 9 8	1270.75	3	54.40€
6 6 6 6 6		9 69 9 9	• •		
<b>9 9 9 9</b>	9 9 9 9	007 1	1990		
tax exemption statu	S:	THUEMA SINT YAS		<b>&gt;</b>	1,324.78